[ 22 (124H]) ] cigl  JR))
oMY= oaer | S s2
= A 4,009,050 3,623,136 385,914
700 AtSHIZ 4,009,050 3,623,136 385,914
710 SLYHI= 4,009,050 3,623,136 385,914
722 CH&EARHHI 4,009,050 3,623,136 385,914
101 Ql24d| 3,529,620 3,186,552 343,068
01 2= 3,418,098 3,083,591 334,507
O H=52(39) 162,856
o YB3z 4,826,980& x2E x12& 115,848
o etz 3,917,300&x1Ex12& 47,008
O &382(82%) 2,243,696
o 2Bts= 2,777,000& x229 x12& 733,128
o LBtz 2,380,500& x19E x12& 542,754
o Yet7= 2,100,500& x18¥ x12& 453,708
o 2Bt8= 1,862,700& x23H x12& 514,106
O 3a=< 2,243,696,000& /128 x0.95 177,626
O 329 Jteta 62,880
0254 0|4 130,000 x2Y x12& 3,120
0 20~253 0|8t 110,000& x2Y x12& 2,640
o 15~204 0|2t 80,000& x20% x12& 19,200
o 10~154 0OJgt 60,0003 x26¥9 x 123 18,720
0 5~10& 0|2t 50,0002 x32& x12& 19,200
Oz 25,0003 x85H x2.5x12& 63,750
O XEH&HH| BN SEHA) 360,000 x13H x43] 18,720
O RE2R2(23) 50,0002 x79E x12& 47,400
OJl=8d8xY 12,240
o YBt4.55 30,000& x8E x12& 2,880
o 2Bt6z 0ot 20,000@ x15¥ x 123 3,600
o JIAt 30,000& x10¥x12& 3,600
RN R=PIPN; 20,0002 x9E x12& 2,160
O &g 153,720
o HeA+=E(ot==Hl AIE 22X 150,000& x85%H x12& 153,000
o g (3ts 2l 22 30,0003 x2H x12& 720
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[ 22(2124H) ] ol & E)
oAM= oaer | S 52
O == 19,684
o YBH4Z =R 3,131, 7903 x2H x4 1%x12& 3,082
o b= R 2,943,900 x8H x4.1%x12& 11,588
o 2Bte= U= 2,547,600 x4¥ x4.1%%x12& 5,014
O &g 4,523,760 x4H x9%x 12& 19,543
O AIZ2t2I 22 C 2,716,058,000&/209x1.5x 12A| 2+ 233,919
O sy 2,716,058,000&/209x1.5x8A[2t 155,946
O HAXt= 2,891,574,000&/(209x 128) x8A| 2t x5 46,118
03 SIHAZ2ZAE S 111,522 102,961 8,561
O g2 (3Y) 111,622
oJl2=2(N&s AE) 1,645,430 x3¥ x 123 55,636
o J|Z=Y 55,636,000& /128 x 43| 18,546
o NEY 25,0003 x3Y x2.5x12& 2,250
o AHEHEH| BEXSEH (1D E5HM) 360,000& x 1H x43| 1,440
o HMZAH| 130,000& x3Y x12& 4,680
o WS x| 130,000@ x3E x12& 4,680
o EFItH| 55,636,000&/12& x1.2 5,564
o A (ot=xel AIE22 A 150,000& x3¥ x12& 5,400
o AlZt222Y 83,542,000&/209x1.5x12A|2¢ 7,196
o RY2RY 83,542,000&/209x1.5x8A[2t 4,797
o HAXtE 83,542,000&/(209x 128 ) x8A| 2t x5 1,333
212 =c|=4| 479,430 436,584 42,846
09 JIEt=2|=4 479,430 436,584 42,846
O 23| 4,800
0 BME(LL3~4 100,000& x4Y x12& 4,800
O =84 117,660
o YB3= 250,000& x2¥ x12& 6,000
o b= 155,000& x 1Y x12& 1,860
o YBts= 140,0003 x22¥ x12& 36,960
o 2B6, 7= 105,000& x37E x12& 46,620
o B8= 95,000@ x23¥ x 123 26,220
O AUz AlH| 130,0003 x85H x 12& 132,600
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